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‘Ecto P(X)=X3+7\.x2—2x—7
Mpéner: P(1)=-56=L+A-1°-2.1-7=-5=1+A-2-T=-5=>A=3

Eoto P(x)=x>+2x*-Ax -1
Mpéner: P(-3)=~7=(-3)’+2(-3)" -A(-3)-1=-7=
= -27+18+3A—1=-7=3A=3=1A=1
"Eotm P(X)=X3+(k+1)x2—(3X+1)x—7
Ipémer: P(2)=—-1=2°+(A+1)2° —(3h+1)-2-7=-1=
=8+4A+4-0A-2-T=—-1=2A=-A4=A=2
Eotw P(x)=x’—(A-4)x*—x—-A+1
Ipéner: P(3)=1=3"—-(A-4)3*-3-A+1=1=
= 27T-MN+36-3-A+1=1=-10L=—-60=L1=6
Eoto P(X)=-Ax’—(A—1)x*+(2L+3)x+20—5
Mpéne: P(-2)=-3= -A(-2)" —(A—=1)(-2)" +(2A+3)(-2)+2A-5=3=
=BL—4A+4—-4h—6+24—5="3=>20=4=L=2
Eoto P(X)=¥x"-7Ax"+8
péner: P(1)=—4=21"=7L-1?+8=-4= 1 -TA+12=0

+1/4
A=TP-412=1mh, =121
© o 2\3

‘Eotw P(x)=2"x*-3x+5)’

Mpénet: P(-1)=10=> 202 (~1)" =3(~1)+ 5 =10= 20 +3+ 50 =10 =
=X =7=7(¥-1)=0=(A-1)(A+1)=0=%=1 % A=-1

‘Eoto P(X) =12x° - x*+Ax + A

Mpéner: P(1)=2= 11" -P+1-1+A=2=2+21-3=0

X, =-3
-2+
A=22+4-3=16:>7»1,2=£<

X, =1



